EARAROBREBRT —5 XN—ZXBISH—F

20224E882H (X)) 5@EIIIE2H

SR ERCPVE YL

4 YS5R3®1 717 L21 75K

‘(fﬁ} W ‘I%EH?’JF&] | & 1000 =

[AE%] 17 :1,400,000 § ~ 237 :560,000 @  37&:350,000 3  435:210,000 @ . 5 3&:140,000 M

B RS RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
P HE : -3-1- - BAE— (IE
118l 9 2)—THFvITR v 3 EE.JO 1.(3_1).6 3-3-1-3 39.0 1 (43:2?; ?’gﬂiz{ﬁ
RiN«A40O B:RA/—UN—R F—L— - I\ - T7—LBRR
~, L0 SEFERRL : -4-4- - HEE— (&)
2 6| 71—E—2 4 3 o 1.(332).2 4-4-4-4 | 39.4 7 (4+333) PR
RN—ANR B:FIPUEX KRS
- 3 | HEES 1:32.4 1-1-1-1 | 39.8| — 3 487 | AREB (1)
35|55 |7#ILY 3 #55.0 m 3 |JUBRX )
R:Va—-hnrF—/ #:ISYR7ZXUTO-5 gl BEEE
=~ ' =] EE) : -1-1- - Lt (111E)
418110 LA—SYTILHY 4 3 R 1(/%;1 1-1-1-2 [ 39.8 2 21393) HEEE &
R:bwoO0—U— B:IN—Iv—=— N L3805
<, L s <0 Rz : -10-10- — WiBEs= (i)
5 2 FIEYIVINAF 4 3 A 1.(353).5 10-10-10-8 | 39.1 9 (4:3;)) l\"»(;‘? W)
R:Z2MOAVITUI—r B:7ARILNAH paslaie]
= . ~ s 3 | EHED 1:33.7 7-7-6-6 | 40.6 | — 10 | 400 |fE4AKT) (fatE)
6 4| FTZITIARFEIY 5%.0 a1/2 (-13) | BHER
R:bw70-U— B:091—-EHUTT BNEHKIS
EEE : -6-6- - =RE— (&
71717 ILA—RTY bk 3 56.0 1'(333'4 6667 1 41.3 > (4,3(; KExE i
Rib—trya—sY BILF—TF5FF PIRIAUS
RS t 3 | BERR 1:34.5 9-8-5-5 |41.4| - 4 | 527 |/\KREE ()
8l78| FF/T—R52 54.0 e g | EEES
RIZART—=ILYF— B:RI-EFVUIA LITVRT7—L
S — ) = H&R :35. -5-9- . - oA (g
9 3| Y PAZYIVES 4 3 54_0-? 1(355)5 4-5-9-8 | 42.2 6 (4_185) e
RiADTVTIV—RAY B:L—VATAF BN TS
¥ w R s 3 | AWERTE 1:36.0 8-9-8-10 |42.4| — 8 433 |TTEBE 1)
100111 JAREIILY R *52.0 2172 “n | @ EvILyRIz—I
RiZVSANIVE B:yoOo—EX EvIUy RI7—LA
@ 11— —BERIEI
10—F+— (5,10).9, (3.6) ,7.4,1,8,2
20— — (5,10),9,6,3,7,4,8,1,2
Fol=zr= (5,9,10),6,8, (4,7),1,3,2
40—+ — 5,10,9,6,8,4,7,(2,3) .1
0 ILRE
BB 9 190F9 JA R 6-9 670/ & 6-8 1,070 3ER 5-6-9 2,550
B B 9 130 520) 2704 (=] 8-6 2,410 3Es 9-6-5 12,160
6 350 5-6 740M B E 6-9 2,620
5 140 Ba 9-6 2,990H

ABIC OV TRUTEREERRODDZE. THRIIZEL.




